
 

Last time we saw that

If i j and i is recurrent then j is

recurrent as well

Tf finish tho proof we need Theo following

Propositron

We can characterize recurrence and transience using
n step tail probabilities
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Consequences Recurrence Transience are class properties

callstates in a communicating class
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Examples Gambler's ruin problem Random walk

CROSS Example 4.19 Sec 4 5 1

We use two concepts introduced so far to studyfundament

examples of stochastic processes



AO Gaeublerbrain Smith has n and plays a game

with probability of wiring o pan
winning gives
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losing takes away 1
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This is a second ordor linear recurrences relation

To solve it we cannsidor tho characteristic equation
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